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BACHELOR OF SCIENCE (B. Sc.)  
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Life Science 

LSE-05 : ANIMAL PHYSIOLOGY AND PLANT 

PHYSIOLOGY 

Time : 2 Hours  Maximum Marks : 50 

Note : Use separate answer sheets for Part I and 

Part II. Be brief and precise in your 

answers. Draw neat and labelled 

diagrams wherever necessary. 

 Part—I (Marks : 25) 

(Animal Physiology) 

Note : Question No. 1 is compulsory. Attempt 

four questions from question nos. 2 to 6.   

1. (a) Match the following : 6×
 

 
=3 

 Column A  Column B 

(i) Flamingo (1) gastro- 

intestinal 

hormone 
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(ii) Amoeba (2) exchange of 

gases 

(iii) Cholecystokinin (3) respiratory 

pigment 

(iv) Bomb colorimeter (4) a plankton 

eater 

(v) Gill (5) intracellular 

digestion 

(vi) Haemoglobin (6) energy 

content of 

food and 

waste 

(b) Fill in the blanks with appropriate 

words given in parentheses : 4×
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(i) (Trypsin/Pepsin) ..................... 

specifically hydrolyzes peptide 

bond between a dicarboxylic and an 

aromatic amino acid. 

(ii) Once inside the cell the 

(potassium/sodium) ............. ion is 

pumped out by ATP energised 

active transport. 
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(iii) Ventitation lungs are typical of 

.......... . (vertebrates/invertebrates) 

(iv) A branch of vagus nerve of 

parasympathetic origin slows the 

heart-beat by releasing ............. 

(acetylcholine/norepinephrine). 

2. Describe the mechanism of protein digestion 

with the help of flowchart. 5 

3. Explain how excitation of heart occurs. 5 

4. Describe initiation and energetics of muscle 

contraction with the help of diagram only. 5 

5. Explain the regulation of ovarian activity. 5 

6. Write short notes on any two of the  

following :  2×2
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(a) Action potential 

(b) Steroid and Thyroid hormones 

(c) Carbon dioxide transport in blood 

(d) Ureotelism 
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 Part—II (Marks : 25) 

(Plant Physiology) 

Note : Question No. 7 is compulsory. Attempt 

any four questions from Question  

Nos. 8 to 12. 

7. (a) Define any two of the following : 2×1=2 

(i) Photosynthetically Active Radiation 

(ii) Permeases 

(iii) Stomatal Index 

(b) Choose the correct alternative from the 

words given within the brackets : 

2×
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(i) Sleep movements in Mimosa leaves 

represent (endogenous/exogenous) 

rhythms. 

(ii) NAA is a (naturally occurring/ 

synthetic) auxin. 
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(c) Fill in the blanks in the following 

statements : 2×1=2 

(i) Movement of water through 

apoplastic pathway gets restricted 

at endodermis due to ............ . 

(ii) The term ‘auxin’ was coined  

by ............ . 

8. (a) How were gibberellins discovered ? 2 

(b) Discuss the physiological functions of 

abscisic acid. 3 

9. (a) With the help of a suitable diagram, 

explain the events taking place in C4 

cycle.  4 

(b) Name one C3 and one CAM plant. 2×
 

 
=1 

10. (a) Discuss the loading and unloading of 

sieve tubes in phloem. 3 

(b) What is the role of nif-genes and nod-

genes in nitrogen fixation ? 2 
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11. (a) What are the biological responses 

controlled by phytochrome ? 2 

(b) Discuss the different kinds of chemical 

stresses. 3 

12. Write notes on any two of the following : 

2×2
 

 
=5 

(a) Water potential 

(b) Criteria of essentiality of elements 

(c) The gifted species that can fix 

atmospheric nitrogen 
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 LSE–05 

foKku Lukrd (ch- ,l-&lh-) 

l=kar ijh{kk  

twu] 2025 

tho foKku 

,y-,l-bZ-&05 % izk.kh 'kjhjfØ;k foKku ,oa ikni 

dk£;dh foKku 

le; % 2 ?k.Vs   vf/kdre vad % 50 

uksV % Hkkx&I vkSj Hkkx&II ds fy, i`Fkd~ mÙkj iqfLrdkvksa dk 

mi;ksx dhft,A vius mÙkj laf{kIr ,oa lVhd j[ksaA tgk¡ 

vko';d gks] ogk¡ ukekafdr fp= cukb,A 

 Hkkx&I (vad % 25) 

(izk.kh 'kjhjfØ;k foKku) 

uksV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 6 rd fdUgha 

pkj iz'uksa ds mÙkj nhft,A  

1- (d) fuEufyf[kr dk feyku dhft, % 6×
 

 
=3 

 dkWye A  dkWye B 

(i) ¶ys¥exks (1) tBjka=h; gkWeksZu 

(ii) vehck (2) xSlksa dk 

vknku&iznku 
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(iii) dksysflLVksdkbfuu (3) 'oluh o.kZd 

(iv) cac dyjhehVj 

(o.kZekih) 

(4) Iyod Hkksth 

(v) fxy@Dykse (5) vUrjkdksf'kdh; 

v'ku 

(vi) gheksXyksfcu (6) Hkkstu vkSj 

vif'k"V dh 

ÅtkZ dh ek=k 

([k) fjDr LFkkuksa dks dks"Bdksa esa fn, x, 'kCnksa mfpr 

'kCnksas ls Hkfj, % 4×
 

 
=2 

(i) (fVªfIlu@isfIlu) 
--------------------------

 fof'k"V :i ls 

MkbdkcksZfDlfyd vkSj ,jksesfVd ,sehuks vEy 

ds chp ds isIVkbM ca/k dks ty vi?kfVr dj 

nsrk gSA 

(ii) dksf'kdk ds vUnj gksus ij 

(iksVSf'k;e@lksfM;e) 
--------------------------

 vk;u dks 

ATP dh ÅtkZ ls lfØ; ifjogu }kjk iEi 

djds ckgj fudky fn;k tkrk gSA 
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(iii) laokru QsQM+s (d'ks#fd;ksa@vd'ks#fd;ksa) 

 
--------------------------

 dh fo'ks"krk gSaA 

(iv) ijkuqdaih mRifÙk dh cksxl raf=dk dh ,d 

'kk[kk 
-------------------------------------

 (,lhfVydksyhu@ 

uksj,ihusÝhu) dks fueqZDr djds ân; Lian dks 

ean dj nsrh gSA 

2- izokg rkfydk (¶ykspkVZ) dh lgk;rk ls izksVhu ikpu dh 

fØ;kfof/k dks le>kb,A 5 

3- ân; dk mÙkstu dSls gksrk gS] Li"V dhft,A 5 

4- dsoy vkjs[k dh lgk;rk ls is'kh ladqpu ds vkjEHku vkSj 

ÅtkZ foKku dks Li"V dhft,A 5 

5- vaMk'k; dh fØ;k ds fu;eu dk o.kZu dhft,A 5 

6- fuEufyf[kr esa ls fdUgha nks ij y?kq fVIif.k;k¡ fyf[k, % 

2×2
 

 
=5 

(d) fØ;k foHko 

([k) LVsjkWbM vkSj Fkk;jkWbM gkWeksZu 

(x) jDr esa dkcZu MkbvkWDlkbM dk ifjogu 

(?k) ;wfj;ksRltZu 
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 HkkxµII (vad % 25) 

(ikni dkf;Zdh foKku) 

uksV % iz'u la[;k 7 vfuok;Z gSA iz'u la[;k 8 ls 12 rd fdUgha 

pkj iz'uksa ds mÙkj nhft,A 

7- (d) fuEufyf[kr esa ls fdUgha nks dh ifjHkk"kk fyf[k, % 

2×1=2 

(i) izdk'k&la'ys"k.k dh n`f"V ls lfØ; lkSj 

fofdj.k 

(ii) ijeh,t 

(iii) ja/kz vad 

([k) dks"Bdksa ds vUnj fn, x, 'kCnksa esa ls lgh fodYi 

pqfu, %  2×
 

 
=1 

(i) ekbekslk ifÙk;ksa dh us'k xfr;k¡ 

(vartkZr@cfgtkZr) vkorZu O;Dr djrh gSA 

(ii) NAA ,d (izkÏfrd@la'ysf"kr) vkWfDlu gSA 

(x) fuEufyf[kr dFkuksa esas fjDr LFkkuksa dh iw£r dhft, % 

2×1=2 

(i) ty dh xfr ,iskIykfLVd iFk ds }kjk 

,aMksM£el ij 
--------------------

 ls ckf/kr gks tkrh gSA 

(ii) ^vkWfDlu* dk uke 
--------------------

 us j[kkA 



 [ 11 ] LSE–05 

C–2443/LSE–05 P. T. O. 

8- (d) ftcjsfyuksa dh [kkst dSls gqbZ \ 2 

([k) ,cflfld ,flM ds dk£;dh dk;ks± dh ppkZ 

dhft,A  3 

9- (d) mi;qDr fp= dh lgk;rk ls C4 pØ esa gksus okyh 

?kVukvksa dk o.kZu dhft,A 4 

([k) ,d C3 vkSj ,d CAM ikni dk uke fyf[k,A 

2×
 

 
=1 

10- (d) iks"kokg esa pkyu ufydkvksa ds Hkkj.k vkSj vHkkj.k 

dh ppkZ dhft,A 3 

([k) ukbVªkstu ;kSfxdhdj.k esas fuQ&thu vkSj xzaFkh&thu 

dh Hkwfedk D;k gksrh gS \ 2 

11- (d) QkbVksØkse }kjk fu;af=r tSfod vuqfØ;k,¡ dkSu&lh 

gSa \   2 

([k) fofHkUu izdkj ds jklk;fud ruko dh ppkZ  

dhft,A  3 
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12- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 

2×2
 

 
=5 

(d) ty foHko 

([k) rRoksa dh vfuok;Zrk dh dlkSVh 

(x) {kerklEiUu tkfr;k¡ tks ukbVªkstu ;kSfxdhdj.k dj 

ldrh gSaA 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 

 


